[ Efficiency vs vertpos |

~ 0.7

20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04
0.03
0.02
0.0

1.0

Ratio

R RN RRRNRARRN RRRRE LA RAALE RN LA ALY RRRRNRARR

o
©
a

[EnN
2
N
=
o
N

—— boM-vags
[Efficiend == BoM-/0%0
Efficienq —— BQM-VE00

N
-
=
)
>
n
>
>
5
c
o

e
=
)

Ratio

0.1
0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

Vel

ifffffilf ________

[y

o
|
o

W
o
|
o
[
=
o

0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o

£
n

0.2
0.18
0.16

20.14
>

[S]
c

efticie

0.12
0.1
0.08

0.06)
0.04F

0.02

0 -5 0 5 0 15 20

éim. PV z (cm)



	Contents
	Page 1


